



اسم: _____

التاريخ: _____ النتيجة _____

$$\frac{1}{2} + \frac{2}{3} \times 4 + 6 \times \frac{1}{3} \div 2 =$$

$$\frac{2}{3} + \frac{1}{3} \times 5 - \frac{1}{5} =$$

$$\frac{1}{3} - 5,2 - 3 \times \frac{3}{5} =$$

$$\frac{1}{3} + 3,3 \times 2 + 9 \times 4,8 \div 3 =$$

$$\frac{1}{4} - 10 \times \frac{2}{3} \div 2 - 2 \times 4,4 =$$

$$3,9 + \frac{1}{2} \times 4 - \frac{1}{6} =$$

$$3,9 + 15 \times \frac{1}{2} \div 3 - 3 \times \frac{1}{6} =$$

$$2 - \frac{3}{2} \times 5 + \frac{1}{2} =$$

$$5,9 - \frac{1}{6} \times 4 - 2,3 =$$

$$\frac{3}{4} - 4,8 \times 5 + \frac{3}{4} =$$



اسم: _____

التاريخ: _____ النتيجة _____

$$\frac{1}{2} + \frac{2}{3} \times 4 + 6 \times \frac{1}{3} \div 2 = \frac{25}{6} = 4\frac{1}{6}$$

$$\frac{2}{3} + \frac{1}{3} \times 5 - \frac{1}{5} = \frac{32}{15} = 2\frac{2}{15}$$

$$\frac{1}{3} - 5,2 - 3 \times \frac{3}{5} = \left(-\frac{20}{3}\right) = \left(-6\frac{2}{3}\right)$$

$$\frac{1}{3} + 3,3 \times 2 + 9 \times 4,8 \div 3 = \frac{64}{3} = 21\frac{1}{3}$$

$$\frac{1}{4} - 10 \times \frac{2}{3} \div 2 - 2 \times 4,4 = \left(-\frac{713}{60}\right) = \left(-11\frac{53}{60}\right)$$

$$3,9 + \frac{1}{2} \times 4 - \frac{1}{6} = \frac{86}{15} = 5\frac{11}{15}$$

$$3,9 + 15 \times \frac{1}{2} \div 3 - 3 \times \frac{1}{6} = \frac{59}{10} = 5\frac{9}{10}$$

$$2 - \frac{3}{2} \times 5 + \frac{1}{2} = (-5)$$

$$5,9 - \frac{1}{6} \times 4 - 2,3 = \frac{44}{15} = 2\frac{14}{15}$$

$$\frac{3}{4} - 4,8 \times 5 + \frac{3}{4} = \left(-\frac{45}{2}\right) = \left(-22\frac{1}{2}\right)$$